“Evotution Quiz

Name

Class/Grade

Directions: The diagram below shows a clade. A clade is a group of organisms that arise
from 2 common ancestor. Organisms in a clade share homologous, or similar, features.

Date

Use the diagram and your knowledge of science to answer any questions that follow.
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1 Which homology reveals that mice and fish arose from a common ancestor?

A

B
C
D

The absence of legs

The absence of lungs
The presence of eyes
The presence of gills

2 Which homology reveals that lizards and mice arose from a common ancestor?

F

G
H
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The inability to grow hair
The ability to produce milk

The presence of fungs

The absence of eyes
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According to the endosymbiotic
theory, eukaryotic cells came to exist
because prokaryotic cells surrounded
and incorporated bacteria. These
bacteria eventually became
organelles. Biologists disagree as to
whether prokaryotic cells engulfed
bacteria only once or on multiple
occasions. If prokaryotic cells
engulfed bacteria on multiple
occasions, there would be a clearer
understanding of why eukaryotic cells
found in different species possess —

A no complex structures.

B similar complex structures.
C identical complex structures.
D different complex structures.

Homologous structures are defined as
anatomical structures originating
from the same structure in ancestral
form. For instance, a bird's wing and

the front flippers of a seal are
examples of homologous structures.

Which of the following does the
presence of homologous structures in

vertebrates suggest?

F Al vertebrates developed at the
same rate.

G All vertebrates evolved from
different animals.

H All vertebrates have a commaon
ancestor.

J Al vertebrates developed

internally.
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The illustration below represents the
pathways of adaptation of seven
living species, A through G.

/\A B C D E F G

Time

Ancestral Species

Which two species are likely to have
the most similar DNA base
sequences?

A CandD

B Band G
C BandC
D EandG
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Evolution Quiz

Three different bird species are
represented DY the letters R, S, and
T. Species S and T show similar
coloration. The enzymes found in
species R and T show similartties.
Species R and T also exhibit many of
the same penhavioral patterns. which
figure best shOWS the relationship
between species R, S,and T?
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" Evolution Quiz

7  The diagram below illustrates the changes in a species, or speciation, as time

progresses.
T & r § 7
Species Z
.... '
S N
E Species Y
W
Species X
>

Morphological Change

What does the diagram indicate about the appearance of organism Z in the fossil
record?

A

B
C
D
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It developed through the evolutionary pathway of convergent evolution.
It developed through the evolutionary pathway of punctuated equilibrium.
It developed through the evolutionary pathway of gradualism.

It developed through the evolutionary pathway of stasis.
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